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Questionl:-Which is not a feature of co-operative society?
A:-An association of persons
B:-Democratic Management
C:-Equity
D:-Business Objective
Correct Answer:- Option-D

Question2:-Which are the three fold aspects of Co-operation? Choose the correct
one?
(i) Economic
(it) Moral
(iii) Social
(iv) Cultural aspects
A:-(i), (ii), (iii)
B:-(i), (ii), (iv)
C:-(iv), (ii), (iii)
D:-None of the above
Correct Answer:- Option-A

Question3:-What are the similarities between Co-operation and Capitalism?
Choose the correct one?

(i) Both Gives emphasis to capital

(ii) Both employ executives and pay them well

(iii) Both depends on business efficiency

(iv) Both uses labour

A:-(i) only

B:-(i), (ii) only

C:-(i), (iii) only

D:-(i), (ii), (iii), (iv)

Correct Answer:- Option-D

Question4:-How much is number of members required to form a co-operative
society?

A:-10 persons



B:-20 persons

C:-25 persons

D:-50 persons

Correct Answer:- Option-C
Question5:-Who introduced the term co-operative common wealth?

A:-Robert Owen

B:-Willian king

C:-D.R. Gaddil

D:-Rochdale Pioneers

Correct Answer:- Option-C
Question6:-Who is the father of Co-operation?

A:-Rochdale Pioneers

B:-Raiffaisen

C:-Schules

D:-Robert Owen

Correct Answer:- Option-D

Question7:-What are the essential principles of co-operation as per ICA? Choose the
correct one?

(i) Open membership

(i) Democratic control

(iii) Limited interest on share capital
(iv) Promotion of education

A:-(i), (ii), (iv)

B:-(i), (ii), (iii)

C:-(i), (iii), (iv)

D:-(i), (ii), (iii), (iv)
Correct Answer:- Option-B

Question8:-Co-operative education mainly includes. Choose the correct one?
(i) Education of members

) Education of office bears

i) Education of prospective members

iv) Education of public

A:-(i) only
B:-(i), (ii), (iii), (iv)
C:-(i), (ii), (iii)
D:-(i), (ii) only
Correct Answer:- Option-C
Question9:-What does indicate co-operative flag?
A:-Harmony and unity



B:-Love and friendship
C:-Kindness
D:-None of the above
Correct Answer:- Option-A
Question10:-When did international co-operative day celebrate every year?
A:-First Saturday of July
B:-Second Saturday of November
C:-First Saturday of January
D:-None of the above
Correct Answer:- Option-A

Questionl1l:-What are the objects of co-operative management?

(i) Improvement of performance and efficiency of co-operative institutions
(i) Improve the technical efficiency and economic feasibility

(iii) To improve the competitive strength of the co-operatives

(iv) To create co-operative leadership through professional management

A:-(i) and (ii) only

B:-(i), (ii) and (iii) only
C:-(i), (ii), (iii) and (iv)
D:-Both (i), (iv) only
Correct Answer:- Option-C

Questionl2:-What are the main wings in co-operative Department? Choose the
correct one?

(i) General wing
(ii) Audit wing
(iii) Finance wing
(iv) Materials wing

A:-Both (i), (ii)

B:-(i), (ii), (iii) only

C:-(i), (ii), (iii ), (iv)

D:-Both (i), (iv)

Correct Answer:- Option-A
Question13:-Who is the head of general wing of Taluk level co-operative societies?

A:-Assistant Registrar

B:-Assistant Director

C:-Registrar

D:-Joint Registrar

Correct Answer:- Option-A

Questionl4:-What are the statutory powers of Registrar of Co-operative societies?
Choose the correct one?



(i) Registration of the society
(ii) Registration of Bye-law
(iii) Enquiry
(iv) Settlement of disputes
A:-(i), (ii), (iii) only
B:-All of the above
C:-Both (i) and (ii)
D:-Both (iii) and (iv)
Correct Answer:- Option-B

Question15:-Who can become members in co-operative society? Choose the correct
one?

(i)  Anindividual

(ii) Any other society

(iii) The government

(iv) A body of persons approved by the Government

A:-All of the above

B:-(i) and (ii) only

C:-(i), (ii), (iii) only
D:-None of the above
Correct Answer:- Option-A

Questionl6:-What are the books and registers maintained by co-operatives as per
Kerala state co-operative societies Act? Choose the correct answer?

(i) Minutes book

(ii) Share application register

(iii) Admission register

(iv) Day book

A:-Both (i) and (ii)

B:-All of the above

C:-(i), (ii), (iii) only
D:-Both (iii) and (iv)
Correct Answer:- Option-B

Questionl7:-What are the business transacted at annual general body meeting of
co-operative societies? Choose the correct answer?

(i) Approval of budget

(ii) Election of members of the committee

(iii) Consideration of Annual report

(iv) Disposal of net profit

A:-(i) and (ii) only

B:-(i), (ii), (iii) only

C:-All of the above

D:-(iii) and (iv) only
Correct Answer:- Option-C



Question18:-Which section deals with co-operative audit? Who is authorized to
conduct co-operative audit?

A:-Sec 53, Registrar of Co-operative Audit
B:-Sec 63, Director of co-operative audit
C:-Sec 50, Govt.

D:-Sec 73, Executives of the society
Correct Answer:- Option-B

Question19:-What are the circumstances under with inquiry of co-operative
societies can be ordered?

A:-On his own accord

B:-On an inquiry report of the vigilance officer
C:-On an application of the affiliated society
D:-All of the above

Correct Answer:- Option-D

Question20:-Procedure for the conduct of inquiry and inspection shall contain the
following. Choose the correct answer?

(i) The name of the society whose affairs are to be inquired into

(i) Name of the person authorized to conduct inquiry

(iii) Cost of inquiry

(iv) Any other matter relating to inquiry and inspection

A:-(i), (ii), (iii) only

B:-All of the above

C:-(i) and (ii) only

D:-(iii) and (iv) only
Correct Answer:- Option-B

Question21:-The appointment of auditors in Co-operative societies are made by

A:-Share holders

B:-Members

C:-Registrar of Co-operative societies

D:-Minister of co-operation

Correct Answer:- Option-C
Question22:-Director of Co-operative Audit is appointed by

A:-Government

B:-Registrar of Co-operative societies

C:-State Co-operative bank

D:-Members of State Cooperative bank

Correct Answer:- Option-A



Question23:-The auditor shall submit in the form prescribed by the director
of cooperative audit on the accounts examined by him and on the balance sheet
and final accounts as on the date for the period up to which the accounts have
been audited

A:-Audit Working papers
B:-Audit programme
C:-Audit Memorandum
D:-Audit book

Correct Answer:- Option-C

Question24:-In audit, duty of the cooperative auditor is not merely to
find out the errors and omission, and also to arrange for the rectification of defects
pointed out in the earlier audit certificate and inspection reports.

A:-Mechanical
B:-Administrative

C:-Ad hoc

D:-Continuous

Correct Answer:- Option-B

Question25:-Every cooperative society shall pay to government within of
receipt of the

A:-One month, Audit memorandum
B:-One month, Audit certificate
C:-60 days, Audit Memorandum
D:-60 days, Audit Certificate
Correct Answer:- Option-B

Question26:-Which of the following statement/s about audit of co-operative
societies is/are correct?

(a) All cooperative societies which all or majority of members are belonging to
SC/ST, including its apex society are exempted from payment of audit fee

(b) Any society for the first and second year of audit, irrespective of the date of
commencement of business are exempted from payment of audit fee

A:-Statement (a) True, Statement (b) false
B:-Statement (b) true, Statement (a) false
C:-Both statements are true

D:-Both statements are false

Correct Answer:- Option-B

Question27:-Vanitha cooperative society and dairy cooperative societies need pay
only the rate of audit fees chargeable

A:-1/2
B:-1/3
C:-1/4



D:-3/4
Correct Answer:- Option-A

Question28:-Maximum audit fees payable by the society shall not exceed
rupees

A:-10,000

B:-20,000

C:-50,000

D:-1,00,000

Correct Answer:- Option-D

Question29:-Which of the following statement/s is/are correct about co-operative
accounting?

(a) Day book is the only book of original entry. It incorporates all types of
transactions

(b) The receipt and disbursement statement is prepared from the totals of General
account is a summary of transactions taken place for a period

A:-Statement (a) true, statement (b) false
B:-Statement (b) true, statement (a) false
C:-Both statements are true

D:-Both statements are false

Correct Answer:- Option-C

Question30:-Audit report shall be communicated to the concerned society within a
period

A:-One month

B:-Two months

C:-Three months

D:-Six months

Correct Answer:- Option-D
Question31:-Section 69 of Kerala Cooperative Societies Act deals with

A:-Award

B:-Disputes

C:-Recovery

D:-Execution

Correct Answer:- Option-B

Question32:-The co-operative Arbitration Court, on receipt of reference of a dispute,
shall pass an award within a period of

A:-One month
B:-One year
C:-Six months



D:-Two years
Correct Answer:- Option-B

Question33:-An aggreved party of the award from co-operative Arbitration court
may within a period shall file an application to Tribunal.

A:-15 days
B:-30 days
C:-45 days
D:-60 days
Correct Answer:- Option-D

Question34:-An application for review by any party shall be made within from
the date of communication of the order of the Tribunal

A:-30 days
B:-45 days
C:-60 days
D:-90 days
Correct Answer:- Option-D

Question35:-If any officer of the society misappropriates any money belonging to
that society, he shall be punishable with imprisonment for a term which may
extend to years and with fine which may extend to the amount of
money involved in the offence

A:-2, equal
B:-3, twice
C:-2, twice
D:-3, equal
Correct Answer:- Option-B

Question36:-If the society has not commenced working within months of its
registration, unless extension of time is granted by the registrar, the society shall
be dissolved

A:-3
B:-6
C:-9
D:-12
Correct Answer:- Option-B
Question37:-The remuneration payable to liquidator of a society is fixed by
A:-General body of the society
B:-State cooperative bank
C:-Registrar of co-operative society
D:-Minister of co-operation



Correct Answer:- Option-C

Question38:-The liquidator shall complete the winding up proceedings with in a
period from the date of his appointment

A:-6 months

B:-1 year

C:-2 years

D:-3 years

Correct Answer:- Option-D

Question39:-Cancellation of Registration of society is done as per of Kerala
Cooperative Societies Act 1969.

A:-Section 72
B:-Section 73
C:-Section 74
D:-Section 75
Correct Answer:- Option-C

Question40:-Liquidator of a society is appointed by as per section
of Kerala Cooperative Societies Act 1969

A:-General Body, 72

B:-Registrar of cooperative society, 73
C:-General body, 73

D:-Registrar of Cooperative society, 72
Correct Answer:- Option-D

Question41:-Who was the chairman of the high-level group that recommended
setting up of a national institute for training of senior personnel in the co-operative
institutions in 1964

A:-Prof. Patil

B:-A.D. Gorwala
C:-Vaikunth Mehta

D:-Prof. D.R. Gadgil
Correct Answer:- Option-D

Question42:-Which of the following two institutions were merged to form Vaikunth
Mehta National Institute of cooperative management?

A:-Central Institute of Management for consumer's Business and the National
Cooperative College and Research Institute

B:-Central Institute of Cooperative Management and the National Cooperative
Research Institute

C:-Central Institute of Cooperative Consumer Education and the National
Research Institute for Cooperation

D:-Central Institute of Cooperative Consumer Education and Research and the



National Cooperative Research Institute
Correct Answer:- Option-A

Question43:-Which one of the following is correct with regards to National Council
for Co-operative Training as of now?

A:-It controls and regulate all training and education on Co-operation in India
B:-It is a statutory organisation for Co-operative education in India

C:-It is an autonomous society promoted by Ministry of Co-operation,
Government of India

D:-1t is managed and controlled by National Co-operative Union
Correct Answer:- Option-C

Question44:-National Council for Co-operative Training (NCCT) is previously known
as

A:-Committee for Co-operative Training and Research
B:-Committee for Co-operative Training

C:-National Co-operative training Institute
D:-National Institute for Co-operative Management
Correct Answer:- Option-B

Question45:-H.D.C.& B.M and J.D.C. course in Kerala are conducted by which of the
following?

A:-State Board of Technical Education, Government of Kerala
B:-Registrar of Co-operative Societies, Kerala

C:-Institute of Co-operative Management

D:-State Co-operative Union, Kerala

Correct Answer:- Option-D

Question46:-Who were the first Registrar of Co-operative societies in the state of
Travancore?

A:-Sir. C. Govinda Pillai
B:-Sir. P. Rajagopalachari
C:-Sir. K. Madhava Menon
D:-Sri. Rama Rao
Correct Answer:- Option-A

Question47:-From the below given statements, find out the wrong
A:-Cochin Cooperative Societies Act was passed in the year 1913
B:-Travancore Cochin Cooperative Societies Act was passed in the year 1952
C:-Travancore Cooperative Societies Act was passed in the year 1914
D:-Madras Cooperative Societies Act was passed in the year Act 1932
Correct Answer:- Option-B



Question48:-Which one of the following wrong with regards to State Co-operative
Union, Kerala?

A:-It is a statutory body
B:-Section 89 of Kerala Co-operative Societies Act 1969 deals with it
C:-It came into existence in 1970

D:-It is authorised to do recruitment and training of employees of Co-operative
organisations

Correct Answer:- Option-D

Question49:-Among the following, which is not a member in the Kerala State Co-
operative Bank?

A:-Primary Agricultural Credit Societies

B:-Urban Co-operative banks

C:-Primary Co-operative Agricultural and Rural Development Bank

D:-Nominal or Associate Members of the erstwhile District Co-operative Banks
Correct Answer:- Option-C

Question50:-Among the following, which is the objective of "Cooperative Risk Fund
Scheme"?

A:-For meeting the loan liability of members who have availed loans from a co-
operative societies and become insolvent during repayment period of such loan

B:-For meeting the loan liability of members who have availed loans from a
cooperative societies and died during repayment period of such loan

C:-For meeting the loan liability of members who have availed loans from a co-
operative societies and is affected severely by natural calamities repayment period
of such loan

D:-All the above
Correct Answer:- Option-B

Question51:-Which among the following is a credit guarantee organisation owned
by NABARD?

A:-NABSanrakshan
B:-NABFINS

C:-NABCONS
D:-NABVENTURES

Correct Answer:- Option-A

Question52:-Which of the following statement is wrong with regards to 'SHG Bank
Linkage Project' launched NABARD?

A:-It is a micro finance scheme launched in 1992

B:-It is considered as the world's largest micro finance project

C:-lt is jointly financed by NABARD, LIC and RBI

D:-More than 84% of the groups under the scheme are exclusively women



groups
Correct Answer:- Option-C

Question53:-The following statements are related to Primary Co-operative Credit
Societies. Identify the wrong statement

A:-Primary Agricultural Credit Societies are established in 1904 by following
Raiffeisen model

B:-Service co-operative societies are established in 1958. It can be established
in private sector also

C:-Multi purpose Cooperative society was an experiment of Sri. Manilal B.
Nanavati and is recommended as one best model by the All India Cooperative
Planning Committee 1945

D:-Farmers Service Society was suggested by the National Commission on
Agriculture in 1972

Correct Answer:- Option-B

Question54:-In which year the 'Regulated Markets' were established based on the
recommendations of the Royal Commission on Agriculture?

A:-1928
B:-1924
C:-1919
D:-1925
Correct Answer:- Option-A

Question55:-'Kerajam' brand coconut oil is produced by which of the following
organisations?

A:-CONSUMERFED
B:-KERAFED
C:-MARKETFED
D:-Kerala Dinesh Beedi workers' Central Co-op Society Ltd.
Correct Answer:- Option-C
Question56:-Among the following statements on Gehan, which is wrong?

A:-The Kerala State Co-operative Agricultural and Rural Development Banks
Act, as amended introduced Gehan system

B:-It is a special charge created on movable or immovable property of
borrower as guarantee for amounts borrowed

C:-It is a mere declaration in writing by the borrowers but have all the
characteristics of a valid mortgage

D:-Any claim of the Government arising from a loan under the Kerala Land
Development Act, 1964 shall have priority over Gehan

Correct Answer:- Option-D
Question57:-Which of the following statement best explain 'E-Triveni'?
A:-It is the new online store of CONSUMERFED



B:-It is a division of CONSUMERFED which sell school and office stationery

C:-lt is a division of CONSUMERFED which is dealing with purpose and supply
of electronic goods

D:- It is the new consumer complaint redressal mechanism of CONSUMERFED
Correct Answer:- Option-B

Question58:-Following statements are related to MILMA. Identify the statement
which is wrong

A:-MILMA came into existence in 1980 by converting KLD&MM board into an
apex society

B:-It has a three-tiered organizational structure
C:-Kerala was included in the second phase of '‘Operation Flood'

D:-North Kerala Dairy Project was funded by the Swiss Development Co-
operation

Correct Answer:- Option-A
Question59:-Coirfed was established in which year?

A:-1977

B:-1980

C:-1979

D:-1978

Correct Answer:- Option-C

Question60:-Which of the following statements is/are correct with respect to Kisan
Credit Card Scheme?

A:-The Kisan Credit Card scheme was introduced in August 1998

B:-This scheme was prepared by the NABARD based on the recommendations
of the R.V. Gupta Committee

C:-Normal Validity period this scheme is 5 years
D:-All the statements given above are correct
Correct Answer:- Option-D

Question61:-Literally meaning of the word 'Co-operation’ is :
A:-Honesty
B:-Values
C:-Support
D:-Work together
Correct Answer:- Option-D

Question62:-'The New Harmony' is introduced by
A:-Robert Owen
B:-Schulze Delitzsch
C:-William King



D:-Flannel Weavers
Correct Answer:- Option-A
Question63:-Industrial cooperatives in is called induscos
A:-ltaly
B:-Israel
C:-Russia
D:-China
Correct Answer:- Option-D
Question64:-Which of the following is not an objective of Co-operation?
A:-Elimination of middlemen
B:-Increasing the prosperity of community
C:-Skill development of members
D:-Development of corporate life
Correct Answer:- Option-C

Question65:-In 1901 recommended the establishment of Rural Agricultural
Banks in India

A:-Famine Commission
B:-Frederick Nicholson
C:-Presidency Commission
D:-None of the above
Correct Answer:- Option-A
Question66:-Kolkhozes means
A:-Marketing
B:-Collective Farming
C:-Joint credits
D:-None of these
Correct Answer:- Option-B
Question67:-First ever successful cooperative society in the world is
A:-New Harmony
B:-Labour Exchange
C:-Rochdale pioneers
D:-Trade union societies
Correct Answer:- Option-C

Question68:-Which Cooperative Act provided Cooperative federations first time in
India?

A:-Cooperative Societies Act 1904



B:-Cooperative Societies Act 1912
C:-Madras Cooperative Union 1914
D:-Multi-unit Cooperative Societies Act 1942
Correct Answer:- Option-B
Question69:-The cooperative credit organizations in Japan called
A:-Toku
B:-Kibbutz
C:-Centrosoyus
D:-KOH
Correct Answer:- Option-D

Question70:- has been ranked 37 in top companies in India in 2011 by
Fortune India 500 list

A:-Milma

B:-NDDB

C:-IFFCO

D:-NAFED

Correct Answer:- Option-C

Question71:-Under which Co-operative Societies Act, societies classified as rural
and urban?

A:-Cooperative Societies Act 1904

B:-Cooperative Societies Act 1912

C:-Madras Cooperative Union 1914

D:-Multi-unit Cooperative Societies Act 1942

Correct Answer:- Option-A
Question72:-Frederick Nicholson suggests cooperative model for India

A:-Raiffeissen

B:-Schulze

C:-William King

D:-Robert Owen

Correct Answer:- Option-A
Question73:-Labour Artels popular in

A:-USA

B:-China

C:-ltaly

D:-USSR

Correct Answer:- Option-D



Question74:- is in the top tire position of marketing societies in India.
A:-IFFCO
B:-NAFED
C:-NCDC
D:-None of these
Correct Answer:- Option-B

Question75:-Units attached to societies for collects the milk from farmers and
pasteurisation are called

A:-Bacon Factories

B:-Bull clubs

C:-Lurbrand
D:-Creameries

Correct Answer:- Option-D

Question76:- considered as birth place of consumer cooperative
movements

A:-Denmark

B:-Germany

C:-Britain

D:-ltaly

Correct Answer:- Option-C
Question77:-'Operation Flood' is associated with

A:-Fisheries cooperatives

B:-Dairy cooperatives

C:-Housing cooperatives

D:-None of these

Correct Answer:- Option-B

Question78:-National Co-operative Development Corporation (NCDC) was set by
Central Government on

A:-1960

B:-1961

C:-1963

D:-1964

Correct Answer:- Option-C
Question79:-NCHF is the apex body of

A:-Hantex

B:-Housing cooperatives

C:-Health cooperatives



D:-None of these

Correct Answer:- Option-B
Question80:-Swedish Diary Association is known as

A:-SMR

B:-MTS

C:-KF

D:-Lurbrand

Correct Answer:- Option-A

Question81:-Which of the following connectors is used to attach storage drives such
as hard drives to a mother board?

A:-USB

B:-SATA

C:-Ethernet

D:-HDMI

Correct Answer:- Option-B

Question82:-ldentify the most appropriate matching between the items from List-1
and List-2

List-1 List-2

a. OCR i. Resolution

b. Printer ii. Banking

c. MICR iii. Impact and non-impact
d. Monitor iv. Image to text

A:-a-i, b-iii, c-ii, d-iv
B:-a-iv, b-iii, c-ii, d-i
C:-a-iv, b-i, c-ii, d-iii
D:-a-ii, b-iii, c-iv, d-i
Correct Answer:- Option-B

Question83:-Main characteristics of RAM in a computer system are
A:-Non-volatile, electronic, primary, read only and expensive
B:-Volatile, optical, primary, read-write and expensive
C:-Volatile, electronic, primary, read-write and expensive
D:-Non-volatile, electronic, primary, read-write and expensive
Correct Answer:- Option-C

Question84:-Pick the odd one out
A:-compiler
B:-assembler
C:-word processor

D:-operating system



Correct Answer:- Option-C

Question85:-Which of the following numbers represents identical values?
(i) (o,

(ii) (Fr)y,

(iii) (r0000000),

(iv) oy
A:-(i) and (iii)
B:-(i) and (ii)
C:-(ii) and (iii)
D:-(i) and (iv)
Correct Answer:- Option-A

Question86:-Which style is used to update the Navigation Bar tags in Microsoft
word?

A:-Normal Style

B:-Title style

C:-Heading style

D:-Reference style

Correct Answer:- Option-C
Question87:-Short-cut for selecting the entire content of a word document?

A:-Ctrl-C

B:-Ctrl-A

C:-Ctrl-E

D:-Ctrl-V

Correct Answer:- Option-B

Question88:-If we copy the excel formula =SUM(B4:E4)/$F$4 from cell F5 to cell G6,
the formula will change as :

A:-=SUM(C5:F5)/$G$5

B:-=SUM(C5:F5)/$F$4

C:-=SUM(C6:F6)/$G$6

D:-=SUM(B5:E5)/$F$4

Correct Answer:- Option-B
Question89:-How to view multiple distant parts of an Excel worksheet?

A:-Use page break view

B:-Use print layout view

C:-Split the worksheet to resizable panes

D:-1t is not possible

Correct Answer:- Option-C

Question90:-The feature available in Microsoft Power Point to view your



presentation with speaker notes on one monitor while your audience views the
notes-free presentation on a different monitor

A:-Use Presenter view
B:-Use notes view

C:-Use Reading view

D:-No such option available
Correct Answer:- Option-A

Question91:-Which of the following statement is true?

(i) OOP indicates code reusability through Abstraction
(ii) OOP indicates code reusability through Polymorphism
(iii) OOP indicates code reusability through Encapsulation
(iv) OOP indicates code reusability through Inheritance

A:-Only (i and ii)

B:-Only (iii)

C:-Only (iv)

D:-Only (ii)

Correct Answer:- Option-C

Question92:-Choose the correct statement from the following options

(i) The bool data type is supported in C++, but it is not supported in C
(ii) The Int data type is supported in C++, but it is not supported in C

(iii) The Float data type is supported in C++, but it is not supported in C
(iv) The Double data type is supported in C++, but it is not supported in C

A:-Only (i)

B:-Only (ii)

C:-Only (iv and iii)
D:-Only (iii)

Correct Answer:- Option-A

Question93:-Consider the following statement and choose the correct option
(i) The toolbox is not a main component of the Visual Studio IDE

(ii) The Start menu is not a main component of the Visual Studio IDE

(iii) The Solution Explorer is not a primary component of the Visual Studio IDE
(iv) The Designer is not a central component of the Visual Studio IDE

A:-Only (iii)

B:-Only (i and iii)

C:-Only (iv and iii)
D:-Only (ii)

Correct Answer:- Option-D

Question94:-Choose the correct option from the following
(i) The Do-While structure is not supported by VB.Net
(ii) The For-Next structure is not supported by VB.Net
(iii) The Do-Loop structure is not supported by VB.Net



(iv) The While-Wend structure is not supported by VB.Net
A:-Only (iii) and (iv)
B:-Only (ii)
C:-Only (iv)
D:-Only (i)
Correct Answer:- Option-D

Question95:-Any one of the following is not a function of the database
(i) Managing stored data

(ii) Manipulating data

(iii) Security for stored data

(iv) Analysing code

A:-Only (iv)

B:-Only (ii)

C:-Only (iii)

D:-Only (i)

Correct Answer:- Option-A

Question96:-Choose the correct answer from the following

(i) By using GROUP BY, we group data based on common values, and the WHERE
clause is used to filter those groups based on a condition that applies to aggregated
data

(ii) By using GROUP BY, we group data based on common values, and the ORDER
BY clause is used to filter those groups based on a condition that applies to
aggregated data

(iii) By using GROUP BY, we group data based on common values, and the HAVING
clause is used to filter those groups based on a condition that applies to aggregated
data

(iv) By using GROUP BY, we group data based on common values, and the WITH
clause is used to filter those groups based on a condition that applies to aggregated
data

A:-Only (i and iv)

B:-Only (iii)

C:-Only (i)

D:-Only (ii)

Correct Answer:- Option-B

Question97:-Select the appropriate statement from the following options

(i) Drop Table cannot be used to delete a table referenced by a Local Key
constraint

(ii) Drop Table cannot be used to delete a table referenced by a Primary Key
constraint

(iii) Drop Table cannot be used to delete a table referenced by a Composite key
constraint

(iv) Drop Table cannot be used to delete a table referenced by a Foreign key
constraint

A:-Only (i)



B:-Only (i) and (ii)

C:-Only (iv)

D:-Only (ii and iii)

Correct Answer:- Option-D

Question98:-Which of the following statements is correct about HTML?
(i) HTML uses user defined tags

(ii) HTML uses tags defined in the language

(iii) HTML is not a standard mark-up language

(iv) All HTML tags have an end tag

A:-Only (i)

B:-Only (iii and iv)

C:-Only (i and ii)

D:-Only (ii)

Correct Answer:- Option-D

Question99:-Choose the correct statement about Alta Vista
(i) Itis a hard ware

(ii) Itis an Email

(iii) It is a search engine

(iv) Itis a web site

A:-Only (ii)

B:-Only (iii)

C:-Only (iii and iv)
D:-Only (iv)

Correct Answer:- Option-B

Question100:-Which of the following methods can be used to display data in some
form using Javascript?

(i) document.write()

(ii) concole.log()

(iii) window.alter()

(iv) window.prompt()

A:-Only (i and ii)

B:-All of the above
C:-None of the above
D:-Only (iii and iv)
Correct Answer:- Option-B



